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1. Choose k centroids to match k random elements 
from the database

2. Assign each element to the nearest (most 
similar) centroid

3. Recalculate the centroid of each cluster as 
the center of mass of its members

4. While the convergence criterion isn’t met, 
repeat from step 2







1. Initialize the temperature t as a high value 
and the current state c0 as a set of random 
values

2. Select a new state c1 from a neighbor of the 
current state and calculate ΔC = c1 - c0

3. If ΔC ≤ 0 or exp(-ΔC / t) > random(0, 1) then 
current_state <- new_state 

Else
do nothing

4. Decrement t. If there is still no convergence, 
repeat the second step






















